

LEXINGTON-FAYETTE URBAN COUNTY GOVERNMENT CONTRACT CHANGE ORDER

DATE: May 12, 2015
 Contract Modification: 2 Final
 CONTRACT #: 397-2013

PROJECT: **Tates Creek Sidewalk**

TO: **Bluegrass Contracting Corp
 1075 Red Mile Road
 Lexington, Kentucky 40504**

Original Contract Amount	\$1,671,416.30
Cumulative Amount of Previous Contract Modifications	\$38,031.61
Percent Change of Previous Contract Modifications	2%
Existing Contract Amount	\$1,709,447.91
Net (increase/decrease) in Contract Amount - (From following pages)	\$50,228.96
Percent Change of This Contract Modification	3%
Original Contract Amount	\$1,671,416.30
Cumulative Amount of all Contract Modifications	\$88,260.57
Percent Change of all Contract Modifications	5%
New Contract Amount Including this Change Order	\$1,759,676.87

Recommended by George Miller (Proj. Mgr.) Date 5/12/2015

Accepted by W. P. R. R. R. R. (Contractor) Date 5/18/2015

Approved by Keith R. R. R. (Proj. Engr.) Date 5/18/15

Approved by A. B. R. R. R. (Urban Co. Engr.) Date 5/18/15

Approved by FOR PAPER (Commissioner) Date 5/18/15

Approved by _____ (Mayor or CAO) Date _____

**LEXINGTON-FAYETTE URBAN COUNTY GOVERNMENT
CONTRACT MODIFICATION**

DATE: May 12, 2015
Contract Mod #: 2 Final
CONTRACT #: 397-2013

Project: **Tates Creek Sidewalk**
TO: **Bluegrass Contracting Corp.**

You are hereby requested to comply with the following changes from the contract plans and specifications; The time provided for the completion in the contract and all provisions of the contract will apply hereto.

Item No.	ADD / DEL	Description of changes	Units	Quantity	Unit Price	Increase in contract price	Decrease in contract price	Increase in contract price
2	ADD	Small Bushes	EA	279	\$ 86.75	\$ -	\$ -	\$ 24,203.25
3	DEL	Large shrub/small tree	EA	7	\$ 127.00	\$ 889.00	\$ -	\$ -
4	ADD	Medium trees	EA	73	\$ 404.00	\$ -	\$ -	\$ 29,492.00
5	DEL	Large Trees	EA	49	\$ 520.00	\$ 25,480.00	\$ -	\$ -
6	DEL	Seeding & Protection (disturbed areas)	SY	8098.33	\$ 0.60	\$ 4,859.00	\$ -	\$ -
8	DEL	Sodding	SY	3124	\$ 7.50	\$ 23,430.00	\$ -	\$ -
9	ADD	Entrance Reconstruction	SY	96.14	\$ 90.00	\$ -	\$ -	\$ 8,652.60
10	DEL	Install owner furnished Handicap Ramp w/Tactile Warning Tile	SF	2113	\$ 7.40	\$ 15,636.20	\$ -	\$ -
11	DEL	Concrete Sidewalk	SY	1313.35	\$ 41.75	\$ 54,832.36	\$ -	\$ -
12	DEL	Dense Grade Aggregate	TN	462.17	\$ 37.75	\$ 17,446.92	\$ -	\$ -
13	DEL	No. 57 Stone	TN	250.48	\$ 39.25	\$ 9,831.34	\$ -	\$ -
14	DEL	No. 9 Stone	TN	53	\$ 45.75	\$ 2,424.75	\$ -	\$ -
17	DEL	Convert Curb Inlet to Junction Box	EA	1	\$ 3,066.00	\$ 3,066.00	\$ -	\$ -
18	DEL	Pipe Tie-into Structure	EA	1	\$ 881.00	\$ 881.00	\$ -	\$ -
19	ADD	Curb & Gutter (match existing)	LF	995	\$ 29.50	\$ -	\$ -	\$ 29,352.50
20	ADD	5' concrete walk w/Turn Down	LF	307	\$ 94.50	\$ -	\$ -	\$ 29,011.50
21	ADD	Segmental Retaining Wall	SF	490	\$ 38.75	\$ -	\$ -	\$ 18,987.50
22	ADD	Concrete Retaining Wall w/reinforcement	SF	37	\$ 206.00	\$ -	\$ -	\$ 7,622.00

**LEXINGTON-FAYETTE URBAN COUNTY GOVERNMENT
CONTRACT MODIFICATION**

DATE: May 12, 2015
 Contract Mod #: 2 Final
 CONTRACT #: 397-2013

Project: Tates Creek Sidewalk
TO: Bluegrass Contracting Corp.

You are hereby requested to comply with the following changes from the contract plans and specifications; The time provided for the completion in the contract and all provisions of the contract will apply hereto.

Item No.	ADD / DEL	Description of changes	Units	Quantity	Unit Price	Increase in contract price	Decrease in contract price	Increase in contract price
23	ADD	Decorative Fence / Guardrail at Ret. Walls	LF	97.33	\$ 111.00	\$ -	\$ -	\$ 10,803.63
24	ADD	Standard Asphalt Section	SY	78	\$ 114.00	\$ -	\$ -	\$ 8,892.00
27	ADD	Remove and Relocate Signage	EA	4	\$ 370.00	\$ -	\$ -	\$ 1,480.00
28	ADD	Thermoplastic Markings	SF	2087	\$ 7.90	\$ -	\$ -	\$ 16,487.30
29	DEL	Payment Performance Bond	SF	0.28	\$ 24,563.00	\$ 6,859.96	\$ -	\$ -
33	DEL	Signs	SF	291	\$ 9.20	\$ 2,677.20	\$ -	\$ -
36	ADD	Conduit 1 1/4" inch	LF	375	\$ 3.80	\$ -	\$ -	\$ 1,425.00
37	ADD	Conduit 2" inch	LF	20	\$ 4.60	\$ -	\$ -	\$ 92.00
38	ADD	Conduit 3" inch	LF	137	\$ 9.20	\$ -	\$ -	\$ 1,260.40
40	DEL	Junction Box Type B	EA	1	\$ 578.00	\$ 578.00	\$ -	\$ -
42	DEL	Trenching and Backfilling	LF	85	\$ 3.50	\$ 297.50	\$ -	\$ -
43	ADD	Open Cut Roadway	LF	245	\$ 17.25	\$ -	\$ -	\$ 4,226.25
44	ADD	Cable No. 14/7C	LF	3703	\$ 1.80	\$ -	\$ -	\$ 6,665.40
45	ADD	Messenger - 10800 LB	LF	60	\$ 4.70	\$ -	\$ -	\$ 282.00
52	ADD	Pedestrian Detector	EA	3	\$ 289.00	\$ -	\$ -	\$ 867.00
54	ADD	Install Ped Detector-Audible	EA	3	\$ 289.00	\$ -	\$ -	\$ 867.00
55	ADD	Install Signal - Pedestrian Countdown	EA	7	\$ 347.00	\$ -	\$ -	\$ 2,429.00
56	ADD	Traffic Signal Pole Base	CY	17.1	\$ 347.00	\$ -	\$ -	\$ 5,933.70

